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Balancing Act (AA)
We are learning that the answer on the left of the equals sign is the same as the answer on the right of the equals sign. 
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12 + 4 = 

+ 10


13 + 
= 16 + 4


  + 5 = 15 - 5



 
+ 4 = 7 + 7 


11 + 7 = 
    +
4            17 + 
 = 10 + 10


6 ​+        = 15 – 2              9 + 6 = 5 +
  
             - 5  = 10 + 5
         
17 +

 = 13 + 7

           + 6 = 18 - 8
                 + 5 = 14 – 3
Now, can you make up some of your own for your partner to solve?
Balancing Act (LA)
We are learning that the answer on the left of the equals sign is the same as the answer on the right of the equals sign. 
 5 + 4 = 

+ 3


  3 + 
 = 6 + 4


  + 3 = 10 - 5



 
+ 4 = 7 + 1 


5 + 6 = 
     +
 4            7 + 
 = 10 - 1



6 ​+        = 10 + 2              2 + 6 = 5 +
  
             - 5  = 4 + 1
7 +

 = 10 + 4

           + 6 = 4 + 8
                 + 2  = 4 + 3

Now, can you make up some of your own for your partner to solve?
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